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1) Using  instead of 1/ in solution for pressure gives ‐2 
2) Obtaining 125% or 31% RH due to having e(T1)/es(T2) or es(T1)/es(T2) gives ‐3 (‐2 if they recognize 

it is not right). 

3) a) Saying neutrally or conditionally stable instead of stable gives ‐1. 

e) Saying neutrally stable instead of conditionally stable gives ‐2. Saying unstable gives full marks.

6) Mismatched units in radiance and wavelength scales gives ‐1. Not having spectral radiance units 

gives ‐3. 

7) Due to unclear wording of the questions, all answers give full marks. 

9) Mistaking absorption for emission, and failure to mention increasing height of =1 into the 
stratosphere will give ‐3 (more deductions can occur if other incorrect statements are made). 

10) Only describe greenhouse gas heating (correctly) and mentioning other heat sources responsible 

for the excess radiative cooling gives ‐2 

11) Incorrect definition of Dobson Unit gives ‐3 if they then carry out the calculation. With only the 

definition with no calculation, it is ‐5. 

12) a) Due to a poorly copied periodic table, I will not deduct points for incorrect molar masses 

being used. 

b) Not converting to number density correctly, or using Rd in stead of R for NO2, gives ‐3. 

c) Not deducting the new 2% contribution from the original estimate of mass gives ‐3. 

13) a) Using e in km and others in m gives ‐1. Using T at 0 km rather than at 59 km gives ‐1. Adding 

e instead of subtracting gives ‐1. 

b) Dropping a sign gives ‐1. Using potential temperature or Hypsometric equation gives ‐4. 

Mixing km and m, or hPa and Pa (other than in division cancelling units) gives ‐2. 

c) Using wrong integration limits gives ‐2. Assuming isothermal gives ‐4, and mixing km and m 

units, except where division cancels units, gives ‐2 

d) Using cos(s) instead of /cos(s) gives ‐2. Division by a instead of total  gives ‐1, while 
forgetting to divide by Cp gives ‐3. 



 

 

1) (5 Pts) A parcel of air at 900 hPa has a temperature of 20 oC. It is liŌed adiabaƟcally unƟl the 

parcel temperature drops to 13 oC. What is the pressure at this alƟtude?  

 

Using the reference level of  = T1 = (273 + 20) K at P1=900 hPa, use the potenƟal 

temperature equaƟon to solve for P2 where T2 = (273 + 13) K: 

𝜃 ൌ 𝑇ଶ ∙ ൬
𝑃ଵ

𝑃ଶ
൰

఑

𝑤ℎ𝑒𝑟𝑒 𝜅 ൌ
𝑅
𝐶௣

 

Solving for P2 yields  

 

𝑃ଶ ൌ 𝑃ଵ ∙ ൬
𝜃
𝑇ଶ

൰
ି

ଵ
఑

ൌ 90000 𝑃𝑎 ∙ ൬
293 𝐾
286 𝐾

൰
ି

ଵ଴଴ସ ௃∙௄షభ∙௞௚షభ

ଶ଼଻௃∙௄షభ∙௞௚షభ

ൌ 827 ℎ𝑃𝑎  

 

2) (5 Pts) A parcel of air at 1000 hPa and 25 oC is liŌed adiabaƟcally to its liŌing condensaƟon level 

at 800 hPa where the parcel temperature is T=7 oC, what was the relaƟve humidity of the parcel 

before liŌing? 

 

The fracƟonal RH is defined as: 𝑅𝐻 ൌ
௘ሺ భ்ሻ

௘ೞሺ భ்ሻ
ൌ

ఌ∙௘ሺ భ்ሻ/௉భ

ఌ∙௘ೞሺ భ்ሻ/௉భ
ൌ

ఓሺ భ்,௉భሻ

ఓೞሺ భ்,௉మሻ
 

Now, the saturated parƟal pressure of water vapour at a temperature T is: 

𝑒௦ሺ𝑇ሻ ൌ 6.112 ℎ𝑃𝑎 ∙ 𝑒𝑥𝑝 ൤
𝐿௩

𝑅௩
∙ ൬

1
273 𝐾

െ
1
𝑇

൰൨ 

where Lv and Rv are the latent heat of vaporizaƟon and specific gas constant for 

water vapour, respecƟvely.  The key here is that we can only calculate saturated 

quanƟƟes. Thus, the vapour pressure at T1 we have to get from the fact that at 

the LCL, where the parcel is at T2 and P2, the water vapour in the parcel is 

saturated. Thus: 

𝜇ሺ𝑇ଵ, 𝑃ଵሻ ൌ 𝜇௦ሺ𝑇ଶ, 𝑃ଶሻ 
Or, using the definiƟon of , we have that: 

𝜀 ∙
𝑒ሺ𝑇ଵሻ

𝑃ଵ
ൌ 𝜀 ∙

𝑒௦ሺ𝑇ଶሻ

𝑃ଶ
→ 𝑒ሺ𝑇ଵሻ ൌ 𝑒௦ሺ𝑇ଶሻ ∙ ൬

𝑃ଵ

𝑃ଶ
൰ 

So now, the RH at T1 and P1 can be expressed in saturated quanƟƟes (which we 

can calculate) as: 

𝑅𝐻 ൌ
𝑒𝑠ሺ𝑇2ሻ
𝑒𝑠ሺ𝑇1ሻ

 ∙ ൬
𝑃1

𝑃2
൰ 

For T1=25+273 K = 298 K, T2=7+273 K=280 K, P1=1000 hPa and P2=800 hPa, using 

the expression for es(T), this becomes: 

𝑅𝐻 ൌ
𝑒௦ሺ280ሻ
𝑒௦ሺ298ሻ

∙ ൬
100000 𝑃𝑎
80000 𝑃𝑎

൰ ൌ  
1004 𝑃𝑎
3235 𝑃𝑎

∙ ൬
100000 𝑃𝑎
80000 𝑃𝑎

൰ ൌ 0.3880 ൌ 38.8% 

 

 

   



 

 

3) (20 Pts) In the balloon sounding on the SkewT‐LnP diagram below, the atmospheric 

temperature is ploƩed in red as a funcƟon of pressure. At 1000 hPa is 20 oC and the dew 

point is 7 oC. 

a) At what pressure is the liŌing condensaƟon level (LCL)? 

Since s(Td,P) = p(T,P), to find the point where the water vapour in the parcel, 

p(T,P), becomes saturated, one should follow a line of constant s upward from 

Td, then follow a line of constant  up from T (since before saturaƟon the moƟon 

is adiabaƟc). Where they cross is where the water vapour in the parcel becomes 

saturated. This is approximately 825 5 hPa 
State the stability condiƟons (stable, unstable, neutrally or condiƟonally stable) of the 

atmosphere to small verƟcal displacements in the following pressure ranges:: 

b) Between 1000 and 900 hPa 
Stable: Here parcels follow  and atm < dalr              

c) Between 900 and 850 hPa 

Unstable: Here parcels follow  and atm > dalr       

d) Between 850 and 800 hPa 
Stable: Here parcels follow  below LCL, e above, and atm < dalr and atm < walr   

e) Between 800 and 750 hPa 

Unstable or condiƟonally stable: Here saturated parcels follow e (not ) and 
atm > walr. If the parcel has not yet begun to condense, it is neutrally stable since 

atm = dalr 

   



 

 

 

4) (4 pts) The ___________ and the __________ are layers of the atmosphere that can become 

unstable.  
a) troposphere, ionosphere  

b) mesosphere, troposphere  

c) stratosphere, thermosphere  

d) mesosphere, cryosphere 
 

The temperature falls with alƟtude in both the troposphere and mesosphere, which can lead 

to an unstable atmosphere if the lapse rate exceeds the dry or wet adiabaƟc lapse rate 
 

5) (4 pts) What is the major species in the stratosphere? 
a) Molecular Oxygen 
b) Atomic Oxygen 
c) Molecular Nitrogen 
d) Ozone 
e) None of the above.  

 

Molecular nitrogen is the major species in the atmosphere from the ground up to 

approximately 120 km. Ozone is a minor species, making up only 5 ppmv. 
 

6) (4 pts) Sketch the relaƟve spectral radiance as a funcƟon of wavelength for three blackbodies at 

temperatures T1 > T2 > T3. Label the curves with their temperatures and put units on the axes, but 

you do not need to put numerical values on the axes.  

 

 

Radiance or Irradiance units would be correct, asI would either wavelength or 

wavenumber units (either the leŌ or right plot). I do not need the actual temperatures on 

the curves or the numbers on the axes. Curves should not cross, and the hoƩest 

temperature, T1, should peak at shorter wavelengths (higher frequencies). 

 

   



 

 

7) (4 pts) RelaƟve to the Earth's surface, what effect does the Coriolis force have on masses of air or 
water that are changing laƟtude? 
a) The results are unpredictable; currents can veer right or leŌ in either hemisphere. 
b) They turn to the leŌ in the northern hemisphere and to the right in the southern 

hemisphere. 
c) They turn to the right in the northern hemisphere and to the leŌ in the southern hemisphere. 
d) They turn to the right in both hemispheres. 
e) They turn to the leŌ in both hemispheres. 

 

The Coriolis force is given by െ2𝛺ሬ⃗ ൈ 𝑢ሬ⃗ , where  points “upward” toward Polaris (the North 
Star), or northward. Thus, in the northern hemisphere, for a velocity, u, poinƟng “downward” 
or southward toward the equator, the Coriolis force is < 0 or westward. If I am travelling 
southward, the west is to my right. For a velocity, u, northward toward the pole, Coriolis is 
> 0, and eastward.  If I am travelling northward, east is to my right. In the southern 
hemisphere, the Coriolis force sƟll points northward. Thus, a velocity poinƟng northward 
toward the equator sƟll results in a Coriolis force to the west. However, when travelling 
northward, the west is toward my leŌ. 

8) (4 pts) What wavelengths of sunlight are absorbed by molecular nitrogen in the troposphere? 
a) Infrared. 
b) Ultraviolet.  
c) Radio waves. 
d) Microwaves. 
e) Visible. 
f) None of the above. 

 
The nitrogen molecule does not have a dipole moment and therefore cannot absorb the 
sunlight that reaches the troposphere.  
 

   



 

 

9) (5 Pts) Shown below is the carbon dioxide 15‐micron band. The top figure is the absorpƟon 

spectrum taken in the laboratory, and below is the intensity of the outgoing radiaƟon from Earth 

measured by satellite showing the carbon dioxide. Can you explain why the intensity (and 

temperature) of the outgoing radiaƟon at point 1 is higher than that at points 2 and 3? 

 
From the upper spectrum it is clear that the region around the band centre, point 1, has 

higher absorpƟon coefficient, and therefore a higher opƟcal depth, than the regions 

around points 2 and 3. That is, k1 > k2 or k3 Thus, the radiaƟon at point 1 will reach 
opƟcal depth one, where it can escape to space, at a higher alƟtude. The narrowness of 

the spectrum in region 1 also indicates that the CO2 is radiaƟng to space from a higher 

alƟtude. In this case, that alƟtude must be in the stratosphere, where temperatures are 

higher than in the upper troposphere. On the other hand, the lower absorpƟon at points 

2 and 3 mean that the radiaƟon at these wavelengths will reach opƟcal depth one at 

lower alƟtudes where the temperatures are cooler. 

 

   



 

 

10) (5 Pts) Shown below are the verƟcal profiles of the Ɵme rate of change of temperature 

due to the absorpƟon of solar radiaƟon (solid curves) and the absorpƟon and emission 

of infrared radiaƟon (dashed curves) by water vapor (blue), carbon dioxide (black), and 

ozone (red). The heavy black/green solid curve represents the net heaƟng or cooling 

effect of the three gases. The figure shows that the net effect of the absorpƟon and 

emission of radiaƟon by greenhouse gases is to cool the air in the troposphere about 1oC 

per day. Can you explain why an increase of greenhouse gases would, nevertheless, 

result in warming the air in the troposphere? 

 
The figure shows the radiaƟve heaƟng and cooling, not the total heaƟng and 

cooling of the atmosphere. AddiƟonal, non-radiaƟve sources of heat, for example 

tropospheric convecƟon and latent heat release, will warm temperatures, 

resulƟng in stronger radiaƟve emission and cooling to space. The net effect will 

be for the increased radiaƟve cooling to balance the total heat input at the higher 

equilibrium, or stagnaƟon temperature.  

The long-wavelength greenhouse gas cooling emission escapes to space at and 

above the point where the opƟcal depth is one. Adding addiƟonal greenhouse 

gases will increase their opƟcal depth, raising the alƟtude at which their 

radiaƟon can escape to space to higher in the troposphere where temperatures 

are cooler. The colder emission temperatures at this escape point reduce the 

intensity of the radiaƟon and cooling to space, resulƟng in warming of the 

atmosphere. These warmer temperature at this escape point will increase the 

radiaƟve emission and cooling to space, once again balancing radiaƟve cooling 

and total heaƟng at a new, higher, equilibrium or stagnaƟon temperature. 

 

 

   



 

 

11) (5 Pts) What ozone column (in moleculesm‐2) corresponds to 1 Dobson Unit (DU)? 

Given n ozone molecules in volume V at temperature T, we have pV = nkBT by the ideal 

gas law. By definiƟon, 1 DU corresponds to a column of height 10-5 m and horizontal 

cross-secƟonal area 1 m2, so put V = 10-5 m3. Then for STP, p = 1e5 Pa (1 atm) and T = 273 

K. This gives n=2.7x1020 moleculesm-2. 

12) Nitrogen dioxide, (NO2) is a pollutant released by diesel and petrol internal combusƟon engines 

as well as industrial processes that causes smog. Mainly produced by traffic in ciƟes, the narrow 

valleys and łords where Norwegian ciƟes are located tend to concentrate levels. However, the 

yearly average mass density across Norway 32.33 gm‐3, which is low by European standards. 

 

a) (5 Pts) What is the average number density of NO2 in moleculesm‐3? 

 

Here we first need the weight of the NO2 molecule. From the molar masses (the atomic 

number in gmole-1) from periodic table, we can see this is: 

MN + 2MO = 14.007+2(15.999) = 46.005x10-3 kgmole-1.  

To convert this to a density, we need to convert moles to molecules using Avogadro’s 

number, 6.02x1023 moleculesmole-1, and mulƟply by the concentraƟon given in kgm-3:  

𝑁ேைమ
ൌ

6.02 ൈ 10ଶଷ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 ∙ 𝑚𝑜𝑙𝑒ିଵ

46.003 ൈ 10ିଷ 𝑘𝑔 ∙ 𝑚𝑜𝑙𝑒ିଵ ∙ 32.33 𝜇𝑔 ∙ 𝑚ିଷ ∙ 10ିଽ 𝑘𝑔 ∙ 𝜇𝑔ିଵ 

Which yields: 𝑁ேைమ
ൌ 4.23 ൈ 10ଵ଻ 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 ∙ 𝑚ିଷ 

 

b) (5 Pts) At 1000 hPa and 22 C, the density of NO2 measured one day in Bergen was 

29.95 gm‐3 what is the volume mixing raƟo of NO2? 

Here we need to remember that the volume mixing raƟo is defined as: 𝜈௜ ൌ
௡೔

௡
ൌ

௉೔

௉
  and 

we have the ideal gas laws for dry air and specific species: 𝑃 ൌ 𝜌𝑅𝑇 𝑎𝑛𝑑 𝑃௜ ൌ 𝜌௜𝑅௜𝑇,  
where the specific gas constant is the ideal gas constant R* divided by the molecular 

mass, M. Thus: 

𝜈௜ ൌ
௉೔

௉
ൌ

ఘ೔ோ೔்

௉
ൌ

ఘ೔ோ೏൬
ಾ೏
ಾ೔

൰்

௉
 , where we have assumed the total gas mixture has the 

molar mass of dry air. Again: 

 𝑀ேைమ
ൌ  𝑀ே ൅ 2 ∙ 𝑀ை ൌ 14.007 ൅ 2 ∙ 15.999 ൌ 46.005 ൈ 10ିଷ 𝑘𝑔 ∙ 𝑚𝑜𝑙𝑒ିଵ, and 

Md = 29x10-3 kgmole-1. With Rd given on the help sheet as 287 JK-1kg-1, we have: 

𝜈ேைమ
ൌ

ଶଽ.ଽହൈଵ଴షవ ௞௚∙௠య∙ଶ଼଻ ௃∙௄షభ௞௚షభቀ
రల
మవ

ቁ∙ሺଶଶାଶ଻ଷሻ ௄

ଵ଴଴଴଴଴ ௉௔
 or 𝜈ேைమ

ൌ 1.6 ൈ 10ି଼ ൌ 16 𝑝𝑝𝑏𝑣 

 

   



 

 

c) (5 pts) Originally, the MarƟan atmosphere was thought to consist only of 95% CO2, 3% N2 

and 2% Ar. However, recently, it was discovered that it also contains 0.2% O2. By how much 

did the iniƟal esƟmate of the mean molecular weight of the MarƟn atmosphere change 

when this addiƟonal species, O2 was taken into account. 

 

The molecular weight of a mixture of gases is the sum of the products of the mixing 

ratios of each component times its molar mass Mm = iMmi.  For Mars, we can get the 
molar masses from the periodic table where we have that Mm of CO2=44, N2 = 28, Ar, = 
40, and for later, O2 = 32 all in g/mole. 
The molecular weight of the Martian atmosphere without O2 is therefore: 
𝑀௠೙೚ ೀమ

ൌ 0.95 ∙ 44 ൅ 0.03 ∙ 28 ൅ 0.02 ∙ 40 ൌ 43.44 𝑔 ∙ 𝑚𝑜𝑙𝑒ିଵ  

Now, if we replace 0.2% of this mixture with O2, we calculate the new molecular weight 

by: 

𝑀௠ೀమ
ൌ ൫1 െ 𝜈ைమ

൯ ∙ 𝑀௠೙೚ೀమ
൅   𝜈ைమ

∙ 𝑀ெೀమ
ൌ ሺ1 െ 0.002ሻ ∙ 43.44 ൅ 0.002 ∙ 32 ൌ 43.41 𝑔 ∙ 𝑚𝑜𝑙𝑒ିଵ  

Thus, the molecular mass has gone down, decreasing by 0.03 kg/kmole 

 

13) On Venus gv=8.87 ms‐2, the specific gas constant for dry air is Rdv = 195.5 JK‐1kg‐1, and the 
specific heat at constant pressure, Cpv = 846 JK‐1kg‐1. The pressure at the surface is 92000 hPa, 
and the temperature 753 K. The temperature falls off linearly with a lapse rate of 8 K/km (note 

non‐SI units of hPa and km). 

 

a) (2 Pts) What is the buoyancy period at 59 km, and is the atmosphere stable with respect to 

verƟcal moƟon there? 

 

The Brunt frequency, or buoyancy frequency, in radians/sec is given by: 

 
Of course, we have a different g, Cp, and we need to calculate T(z=59 km) and dT/dz 

there. We are asked for a period, and the brunt period is given by: 

Τ஻௥௨௡௧ ൌ
2𝜋
𝑁

 𝑖𝑛 𝑠𝑒𝑐𝑜𝑛𝑑𝑠 

Here we are given the lapse rate of 8 K/km, which is the negaƟve of the temperature 

gradient. Thus, we know: 

𝑇 ൌ 𝑇௢ െ Γ ∙ 𝑧  𝑎𝑛𝑑 
𝑑𝑇
𝑑𝑧

ൌ െΓ 

Puƫng in the values for Venus, and calculaƟng the temperature and temperature 

gradient: 

At 59 km, we get values of T=281 K, d=g/Cp= 0.01K/m, env=െ
ௗ்

ௗ௭
ൌ 0.008 K/m, giving 

N=0.0089 rad/sec and TBrunt=709.5 s = 11.8 minutes. Since N is real, the atmosphere is 

stable with respect to verƟcal moƟons. 

 



 

 

b) (6 Pts) What is the temperature and pressure at 59 km? 

 

Here we have the temperature dropping linearly with alƟtude. One can use the 

hysrostaƟc equaƟon along with the ideal gas law: 
𝑑𝑃
𝑑𝑧

ൌ െ𝑔 ∙ 𝜌  𝑎𝑛𝑑 𝑃 ൌ 𝜌 ∙ 𝑅ௗ௩ ∙ 𝑇  

To get: 
𝑑𝑃
𝑃

ൌ െ
𝑔

𝑅ௗ௩ ∙ 𝑇
𝑑𝑧 

Since T is T(z) this has to be integrated to give the pressure as a funcƟon of alƟtude: 

𝑃 ൌ 𝑃௢ ∙ 𝑒
ି൤ቀ

௚ೡ
ோ೏ೡ

ቁ∙׬
ଵ

ሺ ೚்ି୻∙௭ᇲሻௗ௭ᇲ೥
బ ൨

 

With the density given by: 

𝜌 ൌ
𝑃

𝑅ௗ௩ ∙ ሺ𝑇௢ െ Γ ∙ 𝑧ሻ
 

This gives: 

𝑃 ൌ 𝑃௢ ∙ ൤
𝑇௢ െ Γ ∙ 𝑧

𝑇௢
൨

௚ೡ
ோ೏ೡ∙୻

 

And  given as above. At z=59000 m, gv=8.87 ms-2, Rdv=195.5 JK‐1kg‐1, =0.008 Km-1, 

To=753 K and Po=9200000 Pa we obtain: 

P= 343.5 hPa and T=281 K. For completeness, the density = 0.625 kgm-3. It is interesƟng 

to note that at around 50 km, the temperature and pressure are similar to that at the 

surface of the Earth.  

 

The Venusian atmosphere is composed of 96.5% CO2 and approximately 3.5% N2, neither of 
which absorb solar radiation. However, there is a 150‐ppm mixing ratio of sulfur dioxide (SO2) at 

the surface that absorbs at in the UV/visible with an absorption coefficient k = 0.11 m2kg‐1. The 
Sun is at a solar ZENITH angle (angle of the Sun from overhead) of = 45 degrees. You may 
assume no scattering, and take the optical depth of incoming solar radiation (averaged over all 
wavelengths), the density of air, and the mass mixing ratio of the absorber to be defined as: 

 

 

 

Where (z) is the mass density of air, (z) is the mass mixing raƟo of SO2. The scale height of the 

atmosphere is Hm = 13 km, and the scale height of the SO2, is Hv = 8 km. At the surface, the 

pressure is 92000 hPa, the total density, 0=85 kgm‐3 and the temperature is 753 K 



 

 

c) (6 Pts) Calculate the opƟcal depth  and its derivaƟve with height d/dz at a height of 5 km 

in the atmosphere. 

So, the first thing is to substitute in for  and  into the integral 

𝜏 ൌ න 𝑘 ∙ 𝜌0 ∙ 𝑒
ି

௭ᇲ

ு೘ ∙ 𝜇0 ∙ 𝑒
ି

௭ᇲ

ுೡ ∙ 𝑑𝑧ᇱ
ஶ

௓
 

This is not too hard to integrate as the exponents of the exponentials add and can be 
factored out.  With k a constant, we get: 

 

and of course, its derivative 

ௗఛ

ௗ௓
   

But, now we need to put in values for 0 (given) and 0, for which we only have the 
volume mixing ratio. No worries, the mass mixing ratio is given by: 

𝜇0 ൎ
𝑀ௌைమ

𝑀ௗ௩
∙ 𝜈 

 
Where the mass of the atmosphere is approximately the mass of dry air without SO2, and 

 is the volume mixing ratio. Now, the mass of SO2 is, form the periodic table given: 

MS + 2(MO) =32.065 + 215.999 = 64.064 g/mole. The mass of the atmosphere is: 

0.965MCO2 + 0.035 MN2 = 0.965(12.011+215.999) + 0.035(214.007) = 43.449 g/mole. 
 

Therefore the mixing ratio of SO2 at the surface is 0 = 1.474150x10-6 = 0.00022. 
Now, plug in this value along with k, 0, Hm=13000 m and Hv=8000 m, and we get at 
5 km altitude: 

 = 3.73, and ௗఛ

ௗ௓
ൌ െ0.00075 𝑚ିଵ ൌ െ0.75 𝑘𝑚ିଵ 

 

 

d) (6 Pts) Calculate the heaƟng rate in Kelvinday‐1 due to short wavelength radiaƟon at 11 km if 

the downward solar flux at the top of the atmosphere is 2600 W/m2 and the solar 

ZENITH angle is =45 degrees. At 11 km, the total density is =36.5 kgm‐3, the absorber 

mass mixing raƟo is 0.0559 gkg‐1, the opƟcal depth is =1 and its derivaƟve, d/dz, 
is ‐0.22 km‐1. 

First things first. The ZENITH angle vs =cos() is shown here: 
 

As you can see cos() = -.  Therefore, we can use the equation 
for downward flux from the short wavelength heating lecture, 

but the one for  instead of .  We could, of course, use the 

equation for  =  + 90o = 135o.  either way, this is given by: 

 
Where 𝐹ఔஶ

↓ ൌ 2600 𝑊 ∙ 𝑚ିଶ 



 

 

All we have to do now is pay attention to the fact that we want the net UPWARD flux, 
which is: 

 
We also need the optical depth given, =1. Putting in the numbers, we get the net 

upward flux F(Z=11km) = -446.9 Wm-2. 
 
We need to get the heating rate in W/kg, then divide by the specific heat Cp in J/kg/K, 
will give the heating rate in K/sec. That heating rate at altitude z is given in terms of the 
net upward flux as: 

𝑑𝑄ሺ𝑧ሻ
𝑑𝑡

ൌ  െ

𝑑𝐹ሺ𝑧ሻ
𝑑𝑧

𝜌ሺ𝑧ሻ ∙ 𝐶௣
 

 

Where (z) it the total atmospheric density, and above we have an expression for F (z): 

𝐹ሺ𝑧ሻ ൌ െ𝐹ஶ
↓ ∙ cos ሺ𝜒௦ሻ ∙ 𝑒

ି
ఛሺ௭ሻ

ୡ୭ୱ ሺఞೞሻ 
 

When we differentiate this with respect to z, we get: 

𝑑𝑄ሺ𝑧ሻ
𝑑𝑡

ൌ  െ
െ𝐹ஶ

↓ ∙
𝑑𝜏ሺ𝑧ሻ

𝑑𝑧 ∙ 𝑒
ି

ఛሺ௭ሻ
ୡ୭ୱ ሺఞೞሻ

𝜌ሺ𝑧ሻ ∙ 𝐶௣
 

 
Now, kindly old professor Espy actually gave you everything you need to calculate this 

without differentiating . That’s because you needed to do that in part a. and if you 
didn’t, then you shouldn’t lose points twice!  Plugging in the numbers, and remembering 

SI units so that d/dz=-0.22x10-3 m-1 you get: 
 

𝑑𝑄
𝑑𝑡

ൌ 4.3 ൈ 10ି଺ 𝐾
𝑠

ൌ 0.00026
𝐾

𝑚𝑖𝑛
ൌ 0.016

𝐾
ℎ𝑟

ൌ 0.37
𝐾

𝑑𝑎𝑦
 

 

 

 




